| total events O=anyInput 8=anyAccept | Entries 63573 | L2time used per input event Entries 604625

T T T T T T T Mean 5.15 " Mean 66.25
'''''''' RMS 3.305 @000__ RMS 11.13
3 C
: ‘ ! ' s F
0 o S A A
OSSN 20000:_ ............................................................................
o L
10000f = -++-+-freseesferehressessessbnenensiinn
BOOOF—++++eofeereerfedirmenmennibinnn b
S Y TS ppd oC iy v N
2 3 4 5 6 7 8 9 0 50 100 150 200 250 300 350 400
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd x: time (CPU kTics)
|rate of input events Entries 20000 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 2244
’§2001 _______________ R S S 7| Mean 102.6 ’E\ T S S S Mean 104.1
I~ . . . . L} . . . .
b C : : : ¢ |RMS 30.73 = ! RMS 29.96
w o S R Lo O B e
*§18°:FW s s s s g
o] = e e RRTTRR 5
T L ST ETLEEIEETEEE SUETERIEIENS
L0 - fveeeeeee e
00 L PR
805" ....................................................................................
BO - oo
BOEE--eemeeemedeeee b
0| o E T RSP PP F PRI SAPTPPRR NI
0: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500

X: time in this run (seconds) X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+ | E Lkl uluds b gtk M R gt s A el b U R | Y . ,

o
x: BTOW softiD.

o
Xx: BTOW softiD.




ETOW tower, Et>2.0 Gev (input)

crate=1

grcrate

crate=2

x: i=chan+128*crate

crate=3

crate=4

x: i=chan+128*crate

crate=5

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

RP~Sectop
o

y; phi bi

0 3 10 15 20 25

30

Entries 11314

35 40
X: eta bin, [-1,+1]

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]




Et Jetl-Jet2 (input) | [Entries _20000]  fgjjet] eta

> 12 -
[} - o
Q °
g | 2
~ 10 !
T | =
- o
8_ =
6
4
2
0
0 2 4 6 8 10 12 0 2
x: Jetl Et/GeV
|diJet phil-phi2 (input) | [Entries_20000]  [djJet2 eta-phi (input)]
_ 30 - 30
o 8
o 3]
o 2
U 25 L 25
o =
e o
o =
.. >
> 20 20
15 15
10 10
5
0 0
0 5 10 15 20 25 30 0 2

x: iPhil ~sector

Entries 20000

250

200

50

6 8 10 12 14

x: iEta [-1,+2]

BTOW-West| Endcap

1000

800

#600

400

200

6 8 10 12 14
X: iEta [-1,+2]



Entries

Jetl Et (input)

20000

Jet2 Et (input) Entries 20000

1 Mean 5.995 104 —{Mean 2.119
RMS 2.122 : [RMS 1.426
10° : : : : :
e it R R R Rt SRR i
102 : : : : :
L B R St SRR R R RIS rasenaseenes
10 : : : :
10— Pl Prensnessn i roseseseenns
1
0 60 ! =50
x: Et (GeV) x: Et (GeV)
#BTOW towers>ped+8 (input) Entries 20000 total Et (input) Entries 20000
600 —---- N M SO N A AU S Mean 32.14 —1Mean 16.91
: : . . 14.43 : 5.577

500

400

300

200

100

Y A N R

0 20

# ETOW towers>ped+8 (input)

160 180 200
x: # of towers/event

800

600

400

200

1000 LN PR s :

Fo) AP P BN B

0 10

i i
80 90 10

x: # of towers/event

Entries 20000
Mean 12.65
RMS 8.066

60
x: Et (GeV)



one-Jet Et (accepted) |

Entries 2244

10°

10" E

10

y: iPhi ~sector

-West| Endcap

D TUYV

one-Jet eta-phi (accepted)
a A

40

30

20

10

0 0
0 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]
one-Jet phi (accepted) | Entries 2244 one-Jet eta (accepted) | Entries 2244
160F ' C
300
140
120 250
100 200
80
150
60
100
401
20
0 C 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 I 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhi ~sector

X:iEta[-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

Entries 1329

>
)

Jet2/G

12

10

180

160

140

—120

10 12
x: Jetl/GeV

Entries 1329

|diJet1 eta-phi (accepted)|
= A -3

y: iPhi ~sector

West| Endcap

D1 \JV’V‘

24
22
20
—18
16

12
x: iEta [-1,+2]

14

Entries 1329

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 20

x: iPhil ~sector

Entries 1329

12
X: iEta [-1,+2]

14



diJet

Entries 1329

10°

10

1

Et (accepted) |

I

w{Mean 8.747

ZIRMS

............

2.469

— High Et jet
--- Low Et jet

e CEETELTEETES ST EEP T Er| SR TP Tr e Th)

o

30 40 50 60
x: Et (GeV)

10 20

|diJet eta (accepted) |

Entries

120

100

80

60

40

20

0 2 4 6 8

I~ H H H H H H Mean

1329

7.486

- RMS ~ 3.771
N — High Etje §
Co i = |--- Low Etjet | .4 Theay..

10 12 14
x: i Eta[-1,+2]

Entries 1329

80

70

60

50

40

30

20

10

|diJet phi (accepted)|

. [RMS

--------- e R

15.14
8.948

Mean

\ [——High Etjet
--- Low Et jet

o

5 10 15 20 25 30

x: iPhi ~sector

|di.]et delZeta (accepted)|

Entries

180

160

140

120

100

80

6

o

40

20

0

I H H H H H Mean

RMS

1329

30.79
4.967

i_ﬂ' E-Ep?rhi(a 1J D)%

20 30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) | l\Eﬂg'nei B |diJet eta2 vs. etal (a
Meany 30.79 : =

y: delta zeta (rad*10)

Entries

x: iEta2 [-1,+2]

Mean x
eany

10[ .. - W — -
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | entries 1929 |total Et diJet (accepted)] Entries 1329
~ M
g Y 309 ' ‘|Mean 2333
el B : : : :
@© : : :
= 100f— -+ R 1 1 B S ST SRS
© H H H H
g - :
N . .
g : : : : :
5 80—+ R e f R S R e
o] H H H H H
S\ - . . . . .
60
T e T T
e 4 20_ T
2 -
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 0 1 1 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1 1 i|_||—| 1 1
1 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

1329
7.486
6.951 p

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE)| Entries 70| IdjJetl eta-phi (accepted EE)| Endea Entries 70
> 12 : : : : : 16 _ 30 BTOW-Eas{] DTOVV vve P : 5
5] o . . . . . (o) .

8 [ ; | | s i I S F
3 10l : : : : : 14 o . F
S L0f—eeeeee i MR Frosesesenen e Freseeeseanes L 25 bbb e - R
- : : : : : < B
- —12 £ r —-—
8 P 0 o
15:_ ..............................................................................
10:_ ...........................................................
] SERRROIRS SRR SO0 OSSR SHRNOIN eSS
O_I 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted EE)| Entries 70 [diJet2 eta-phi (accepted_ EE)|
30 ) 30 RTﬂ\/\I I:an DTOvVV-vVve Endcap 3
5 s F . - - = e
5 ST e
g 188 I :
4 25 L6 L 2B e —2.5
a " = :
.. > - :
% 20 14 7o) NS USRI PRI (SORNE SUUUOUU SUUUUUURIEN AURUURUURI SO Soues: SO (o
1.2 - :
15 1 T S o oo 15
- -
0.8 C ]
10 1o ) A S R N T SN IS SR S —
06 n : !
0.4 - :
5 5_— """"""""""""""""""""""""""""""""""""" T 0.5
0.2 - 5
0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 l l 1 1 1 1 I 1 1 1 1 O O_I 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1 o
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted EE) |

Entries

—|Mean

‘IRMS

70
6.114
1.323

CopmniiIi{—High Etjet [
--- Low Et jet

50 6
x: Et (GeV)

0

|diJet eta (accepted EE) |

Entries

30

25

20

15

10

Mean

RMS

70
12.94
1.064

— High Et jet
--- Low Et jet

12 14
x: i Eta[-1,+2]

Entries

—|Mean

70
16.49

R IS S AU B —

C RMS 8.663
e S W - .
Y SO L H ................ |

C ''—High Et je

. i --- Low Et jet
3 T T T 1T T
2: .. .: L -I I..:.....! E _____:._ s : ..

" | | RED:Jetl ET b GREEN Jqt] o
l_ i Sy el e e 7" 1 1 --I---I--*--_l --I'--I---I--._‘--
0 5 10 15.r 20 25 30

x: iPhi ~sector

Entries

12—

10—

(@]

s AT=phiQdL32)*

Mean
RMS

70

30.53
6.322

0

10

50 60
x: delta zeta (rad*10)




. Entries 70

|d|Jet delZeta vs. etal (accepted EE) | oy 1oen
s : Meany  30.53
I e R e s TR SRS SECET T

e] N N

£ : : 35
© B0 e ST

N 5 : —3
8 —_—

S A0 L 25
.. —

> :

30

7] MRS TR SRS SRS SRS S =i
— :
10 R SR U SO e —

OIllillliIllilllilllilllilllil

T

15

1
0.5
0

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

Entries 70

|diJet eta2 vs. etal (accepted_EE)|

Mean x 12.94

- - : . QTQ\/\/ : Endca eany 1329
+ . e e, S e
il S S S
~ B : : : :
S s Feeeeeenand e R N ! cap
w lar : : : : : 10
X B

19

0
|

O 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

70
14.9
30.53

diJet delZeta vs. avrPhi (accepted_EE) | “EA”"ieS
ean X

= : Mean y

b T P T P PP T PP ET P PEP PEPEPRPPRPEP

ie] N

I R e R ST

U T = e e B T

@

N

5 r

©

©

o

—2.5

0.5

x: (iphil+iphi2)/2 (12 deg/bin)

1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
1O 5 10 15 20 25 30

Entries 70

ltotal Et diJet (accepted EE) |

17.71

10 Mean

0 10 20 30 40 50 60
x: Et (GeV)




[Et of Jetl vs. Jet2 (accepted EB)] Envies 242] |diJetl eta-phi (accepted EB)] ‘ Entries 247
S 12 30 BTOW-Eact DTOvv=vvest Endcap
v : : : : : I7o 5 : ' :

10 60

Jet2/G

..........................................

y: iPhi ~sector

—50 20

o

—30

.........................

15

10

20

...........................................

10

O 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 O O T | | 111 | 1
0 2 4 6 8 10 12 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]

o

diJet phil-phi2 (accepted_EB Entries 242 diJet2 eta-phi (accepted_EB Entries 242
| 30 : b ( D — )| | 30 RT(?\AI_I:ng leu_vv-v)v|est Endcap

N
(&2}

y: iPhi2 ~sector
N
Ul

y: iPhi ~sector

20 20

15 15

10 10

0||||i||||i|l_£4_l-|||i|||| 0 O|||i|||i||l

a1
IIII|IIII

| 1 - [ | | | l L1 | 1
0 5 10 15 20 25 30 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]

o



|diJet Et

Entries

(accepted EB)|

102 __:: I IIIIIIIIIIIIIIIIINNN LI
ol
_..J...: ............................

10 =3

—|Mean

- [RMS

242

7.393
1.248

— High Et jet
--- Low Et Jet

40 50

x: Et (GeV)

60

|diJet eta (accepted EB) |

60

50

40

30

20

10

.............................

.......................................................

— High Et jet
--- Low Et jet

l'l_llilllilllilllil

Entries 242
Mean 11.16
RMS 1.821
" :
R A, SRR
b= i

6 8

Entries

16

14

12

10

] R R --- Low Et jet

6 B

4 RED jetl ET S GREEN Jet2 EFIT

5 S O S A — [ —
= 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1

—|Mean
RMS

242
15.1

8.532

e H|gh Etjet

R S S,

o

5

=
o

15 20 25

x: iPhi ~sector

30

|diJet delZeta (accepted EB)]

10

12 14
x: i Eta[-1,+2]

Entries

30

25

20

15

10

R Imls

K zeﬁyhi'(a 1','322)'

Mean
RMS

242
31.19
5.579

....................................................................................

o

10

20

30

40

50 60

x: delta zeta (rad*10)




H Entries 242

|d|Jet delZeta vs. etal (accepted_EB)| VARV
— - Meany 31.19
0] T S T

e] : N

& : :

© B0 SETes SN S

N 5 — 6
E H

B AD  ——— 5
5

30

20

10

0

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

i

2
1
0

Av

|diJet eta2 vs. etal (accepted EB) | e
= n
14—

12—

x: iEta2 [-1,+2]
T

15N
O

0
|

O 1

dca

Entries

mean X
eany

2 4 6 8 10

diJet delZeta vs. avrPhi (accepted_EB) | “EA”"ieS 15221
ean X .
{Meany 31.19

y: delta zeta (rad*10)

.......................

1O

5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

12 14

x: iEtal [-1,+2]

Entries 242

ltotal Et diJet (accepted EB)|

25

20

15

10

............................................................

20.79

:|Mean

oY Y P Y P
O 1 1 1 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 10 20 30 40 50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted BB) |

>
)

Jet2/G

12

10

10
x: Jetl/GeV

Entries 1116

180

160

140

120

12

|diJet1 eta

-phi (accepted BB)
OW-F23

D TUVVEVV

st Endcap

y: iPhi ~sector

14

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5 10

25
x: iPhil ~sector

Entries 1116

18

16

14

12

30

Entries

[diJet2 eta-phi (accepted_BB)| Endcap

R O\\/- D TUVVEVV

w
(=]
N

y: iPhi ~sector

12 14
X: iEta [-1,+2]

Entries 1116

24
—20

—18
16

1116




|diJet Et (accepted BB) |

Entries 1116

10% =3

10g=s

............................................................................

.|— High Et jet
--- Low Et jet

.............................................

CIEETEETES S PR LET T T SET T Try Th)

Mean 9.148

“{rRMS

2.444

.....................

30 40

50 60
x: Et (GeV)

|diJet eta (accepted BB) |

Entries 1116

120f—-------- EEREERRRERE: SRRRERREEES Brooseennans R RRRE EERREEEREER

100f—--

.......................

80—

60F=«

.....................

..........................

6.683
3.512

Mean

RMS

|—High Et jet
--- Low Et jet

O[T

20f

0

2 4

6 8 10

Entries 1116

Mean 15.02

70__ ............................................................... p—- e - e -

- |RMs  9.032
O RCECE TETITETETERLE IOPSETRRPLNS SRTRURIPISPRL SRRD] (B EETRS SRIPISRRRS
SRS S SRR SRR B §

40;— | — ngh Etjet
30: --- Low Et Jet

A L Ll—-—'
20 S N S

C RED Jetl ET > GREEN Jet2 ET
O SCRCEC T TR ERt LR PRI EEE SRS SEPRLRL SESTPRIRRN SRRSO

E| 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

o

5

10 15 20

25 30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

12 14
x: i Eta[-1,+2]

Entries 1116

160

140

120

100

80

40k

20

o SRRSO USRS PSSO 1 SOOI

Mean 30.77

RMS

4.717

20

30 40

50 60

x: delta zeta (rad*10)



Entries

Fxlean X

|diJet delZeta vs. etal (accepted BB)] entries 1118

Mean y

|diJet eta2 vs. etal (accepted_BB)| e
= n

Av

30.77

y: delta zeta (rad*10)
(o))
o
x: iEta2 [-1,+2]

30 — . — o —

o — N e S— W—

10

O T | | T | | T | | 111 | 11 | 11 | 111 | 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

Entries 1116

Mean x 1471
Mean y

diJet delZetavs. avrPhi (accepted BB) | Entries 1116 |total Et diJet (accepted_BB)|

30.77

: : : : ‘[Mean  24.09
100f—=--=weeeeee R I AR i A :

I ]

y: delta zeta (rad*10)

S I e

e s

I SRR N SRR N—— — 20— A S T S S

IIIIIIIIIIIIIIIIIII II|_||—| 11

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O
1O 5 10 15 20 25 30 0 10 20 30 40 50 60
x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)




